
E
X

E
R

C
IC

E
N

O
5

D
’a

p
rè

s
su

je
tB

,b
an

qu
e

P
T

20
18

Po
u

r
(a

,b
)∈

C
2
,o

n
d

éfi
n

it
g

a
,b

l’e
n

d
o

m
o

rp
h

is
m

e
d

e
R

2
q

u
i,

au
ve

ct
eu

r
u
=

(x
,y

)∈
R

2
d

’a
ffi

xe
z
=

x
+

iy
,a

ss
o

ci
e

le
ve

ct
eu

r
g

a
,b

(u
)

d
e
R

2
d

’a
ffi

xe
f a

,b
(z

)=
a

z
+

b
z.

La
b

as
e

ca
n

o
n

iq
u

e
d

e
R

2
es

tn
o

té
e

(e
1
,e

2
).

1.
D

ém
o

n
tr

er
q

u
’o

n
a

b
ie

n
g

a
,b
∈L

(R
2
).

Po
u

r
al

lé
ge

r,
n

o
to

n
s

g
a

,b
=

g
et

f a
,b
=

f
d

an
s

ce
tt

e
q

u
es

ti
o

n
en

co
n

si
d

ér
an

tq
u

e
a

et
b

so
n

tfi
xé

s.
Il

s’
ag

it
d

e
m

o
n

tr
er

:
i)
∀u

∈R
2
,

g
(u

)∈
R

2
et

ii
)

g
es

tl
in

éa
ir

e
i.e

.∀
(u

1
,u

2
)∈

¡ R
2
¢ 2 ,∀

α
∈R

,
g

(α
u

1
+

u
2
)=

α
g

(u
1
)+

g
(u

2
)

Po
u

r
i)

:i
)

es
ta

ss
u

ré
p

ar
d

éfi
n

it
io

n
d

e
g

:g
(u

)=
v

o
ù

v
∈R

2
es

tl
e

ve
ct

eu
r

d
’a

ffi
xe

f(
z)

lo
rs

q
u

e
u

a
p

o
u

r
af

fi
xe

z.

Po
u

r
ii

)
:i

ls
’a

gi
td

’é
ta

b
lir

l’é
ga

lit
é

d
es

ve
ct

eu
rs

g
(α

u
1
+

u
2
)

et
α

g
(u

1
)+

g
(u

2
)

d
an

s
R

2
.

O
r

d
es

ve
ct

eu
rs

so
n

té
ga

u
x

s’
ils

o
n

tl
a

m
êm

e
af

fi
xe

.S
iu

1
(r

es
p.

u
2
)

a
p

o
u

r
af

fi
xe

z 1
(r

es
p.

z 2
)

Il
su

ffi
td

e
vé

ri
fi

er
q

u
e

f(
α

z 1
+

z 2
)=

α
f(

z 1
)+

f(
z 2

)
m

ai
s,

p
ar

d
éfi

n
it

io
n

:

f(
α

z 1
+

z 2
)=

a
(α

z 1
+

z 2
)+

b
(α

z 1
+

z 2
)=

a
(α

z 1
+

z 2
)+

b
(α

z 1
+

z 2
)=

α
(a

z 1
+

b
z 1

)+
(a

z 2
+

b
z 2

)=
α

f(
z 1

)+
f(

z 2
)

p
u

is
q

u
e
α

es
tr

ée
l

A
in

si
,i

)
et

ii
)

ét
an

td
ém

o
n

tr
é,

o
n

p
eu

tc
o

n
cl

u
re

q
u

e
g
=

g
a

,b
es

tu
n

en
d

o
m

o
rp

h
is

m
e

d
e
R

2

2.
É

cr
ir

e
la

m
at

ri
ce

G
a

,b
d

e
g

a
,b

d
an

s
la

b
as

e
ca

n
o

n
iq

u
e

d
e
R

2

e 1
=

(1
,0

)
a

p
o

u
r

af
fi

xe
z
=

1
au

ss
ig

(e
1
)

a
p

o
u

r
af

fi
xe

f a
,b

(e
1
)=

a
+

b
.

e 2
=

(0
,1

)
a

p
o

u
r

af
fi

xe
z
=

i
au

ss
ig

(e
2
)

a
p

o
u

r
af

fi
xe

f a
,b

(e
2
)=

ia
−

ib
.

Pa
r

su
it

e
:g

(e
1
)=

³ ℜe
(a

)+
ℜe

(b
),
ℑm

(a
)+

ℑm
(b

)´ et
g

(e
2
)=

³ −
ℑm

(a
)+

ℑm
(b

),
ℜe

(a
)−

ℜe
(b

)´

F
in

al
em

en
t:

G
a

,b
=

M
at

(e
1

,e
2

)(
g

a
,b

)=
µ

ℜe
(a

)+
ℜe

(b
)

−ℑ
m

(a
)+

ℑm
(b

)
ℑm

(a
)+

ℑm
(b

)
ℜe

(a
)−

ℜe
(b

)

¶ =
G

a
,b

3.
(P

o
u

r
le

s
5/

2
p

o
u

r
l’i

n
st

an
t)

O
n

su
p

p
o

se
d

an
s

ce
tt

e
q

u
es

ti
o

n
u

n
iq

u
em

en
tq

u
e

a
∈R

.

La
m

at
ri

ce
G

a
,b

es
t-

el
le

d
ia

go
n

al
is

ab
le

d
an

s
M

2
(R

)?
Q

u
e

d
ir

e
d

e
p

lu
s

su
r

se
s

so
u

s-
es

p
ac

e
p

ro
p

re
s?

O
n

a
al

o
rs

:G
a

,b
=

µ
a
+
ℜe

(b
)

ℑm
(b

)
ℑm

(b
)

a
−
ℜe

(b
)

¶ es
tu

n
e

m
at

ri
ce

sy
m

ét
ri

q
u

es
ré

el
le

s.

D
’a

p
rè

s
le

th
éo

rè
m

e
sp

ec
tr

al
,e

lle
es

td
ia

go
n

al
is

ab
le

d
an

s
M

2
(R

)
et

le
s

so
u

s-
es

p
ac

es
p

ro
p

re
s

so
n

to
rt

h
o

go
n

au
x.

4.
a.

D
ét

er
m

in
er

le
p

o
ly

n
ô

m
e

ca
ra

ct
ér

is
ti

q
u

e
d

e
G

a
,b

.

Po
u

r
u

n
e

m
at

ri
ce

d
’o

rd
re

2,
o

n
a

:
χ

G
a

,b
(x

)=
x

2
−

tr
(G

a
,b

)x
+

d
et

(G
a

,b
)=

x
2
−

2ℜ
e(

a
)x

+
³ ℜe

2
(a

)−
ℜe

2
(b

)−
ℑm

2
(b

)+
ℑm

2
(a

)´

so
it

:
χ

G
a

,b
(x

)=
x

2
−

2ℜ
e(

a
)+

|a
|2
−
|b
|2

b
.

O
n

su
p

p
o

se
q

u
e
|b
|2
̸=

(ℑ
m

(a
))

2
.L

a
m

at
ri

ce
G

a
,b

es
t-

el
le

d
ia

go
n

al
is

ab
le

d
an

s
M

2
(C

)?

E
st

-e
lle

d
ia

go
n

al
is

ab
le

d
an

s
M

2
(R

)?
D

is
cu

te
r

en
fo

n
ct

io
n

d
e

a
et

b
.

Le
d

is
cr

im
in

an
td

e
χ

G
a

,b
es

t∆
=

4(
ℜe

(a
))

2
−

4³ |a
|2
−
|b
|2

´ =
4³ |b

|2
−

(ℑ
m

(a
))

2
´

A
u

vu
d

e
l’h

yp
o

th
ès

e
fa

it
e,

o
n

a
d

o
n

c
∆
̸=

0
et
χ

G
a

,b
p

o
ss

èd
e

d
eu

x
ra

ci
n

es
co

m
p

le
xe

s
d

is
ti

n
ct

es
d

e
so

rt
e

q
u

e

χ
G

a
,b

es
ts

ci
n

d
é

à
ra

ci
n

es
si

m
p

le
s

d
an

s
C

[X
]e

to
n

p
eu

tc
o

n
cl

u
re

q
u

e
G

a
,b

es
td

ia
go

n
al

is
ab

le
d

an
s

M
2
(C

)

Si
|b
|2
>

(ℑ
m

(a
))

2
al

o
rs
∆
>

0
et

le
s

d
eu

x
ra

ci
n

es
so

n
t

ré
el

le
s

d
e

so
rt

e
q

u
e
χ

G
a

,b
es

t
sc

in
d

é
à

ra
ci

n
es

si
m

p
le

s

d
an

s
R

[X
]e

to
n

p
eu

tc
o

n
cl

u
re

q
u

e
G

a
,b

es
td

ia
go

n
al

is
ab

le
d

an
s

M
2
(R

)

Si
|b
|2
<

(ℑ
m

(a
))

2
al

o
rs
∆
<

0
et

il
n’

y
a

p
as

d
e

ra
ci

n
e

ré
el

le
d

e
so

rt
e

q
u

e
χ

G
a

,b
n’

es
tp

as
sc

in
d

é
d

an
s
R

[X
]e

to
n

p
eu

td
o

n
c

co
n

cl
u

re
q

u
e

G
a

,b
n’

es
tp

as
d

ia
go

n
al

is
ab

le
d

an
s

M
2
(R

)

LE
R

O
Y

-
P

T
Pa

u
lC

o
n

st
an

s

c.
O

n
su

p
p

o
se

q
u

e
|b
|2
=

(ℑ
m

(a
))

2
.

D
ém

o
n

tr
er

q
u

e
G

a
,b

es
td

ia
go

n
al

is
ab

le
d

an
s

M
2
(R

)
si

et
se

u
le

m
en

ts
ia

∈R
et

b
=

0.

So
u

s
ce

tt
e

h
yp

o
th

ès
e,
∆
=

0
et
χ

G
a

,b
p

o
ss

èd
e

u
n

e
ra

ci
n

e
ré

el
le

x 0
=
ℜe

(a
)

d
’o

rd
re

m
(x

0
)=

2.
G

a
,b

es
td

ia
go

n
al

is
ab

le
d

an
s

M
2
(R

)
si

et
se

u
le

m
en

ts
id

im
K

er
(G

a
,b
−
ℜe

(a
)I

2
)=

2
O

r
K

er
(G

a
,b
−
ℜe

(a
)I

2
)

es
t

u
n

se
v

d
e
R

2
et

d
im
R

2
=

2
au

ss
il

a
co

n
d

it
io

n
d

im
K

er
(G

a
,b
−
ℜe

(a
)I

2
)=

2
es

t
éq

u
i-

va
le

n
te

à
K

er
(G

a
,b
−
ℜe

(a
)I

2
)=

R
2

so
it

à
G

a
,b
−
ℜe

(a
)I

2
=

0
M

ai
s

:

G
a

,b
−
ℜe

(a
)I

2
=

0
⇔

µ
ℜe

(b
)

−ℑ
m

(a
)+

ℑm
(b

)
ℑm

(a
)+

ℑm
(b

)
−ℜ

e(
b

)

¶ =
µ

0
0

0
0

¶

⇔
½

ℑm
(a

)=
ℑm

(b
)=

0
av

ec
le

s
co

ef
fi

ci
en

ts
an

ti
d

ia
go

n
au

x

ℜe
(b

)=
0

av
ec

le
s

co
ef

fi
ci

en
ts

d
ia

go
n

au
x

⇔
a
∈R

et
b
=

0

E
n

d
éfi

n
it

iv
e

:
si
|b
|2
=

(ℑ
m

(a
))

2
:

G
a

,b
es

td
ia

go
n

al
is

ab
le

d
an

s
M

2
(R

)
si

et
se

u
le

m
en

ts
ia

∈R
et

b
=

0

d
.

A
q

u
el

le
(s

)
co

n
d

it
io

n
(s

),
g

a
,b

es
t-

il
d

ia
go

n
al

is
ab

le
?

g
a

,b
∈L

(R
2
)

es
td

ia
go

n
al

is
ab

le
⇔

G
a

,b
es

td
ia

go
n

al
is

ab
le

d
an

s
M

2
(R

)
Le

s
q

u
es

ti
o

n
s

3b
et

3c
co

n
d

u
is

en
tà

ét
u

d
ie

r
to

u
te

s
le

s
co

n
fi

gu
ra

ti
o

n
s

et
o

n
p

eu
tc

o
n

cl
u

re
:

g
a

,b
∈L

(R
2
)

es
td

ia
go

n
al

is
ab

le
⇔

|b
|2
>

(ℑ
m

(a
))

2
o

u
³ a

∈R
et

b
=

0´

LE
R

O
Y

-
P

T
Pa

u
lC

o
n

st
an

s


